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I 'R mwn: four executions — pan 70 ,naMY ,nN»HPo —
a  Dissent: W™ — 0 ,pan ,nv7po ,noMw
I Rhetorical analysis: X1 271 — wherever the nywn presents an enumerated list, the sequence is incidental, except for 1:v N1
a  N1D K99 "1 (quoting 17): also our MWy, as seen from w™’s dissent
i Defense: k10 'y wasn’t discussing a n1wn involving dispute (significance of sequence is obvious from dispute)
b x98":also— o930 DY 17O
i Defense: that is due to the X1 of the day, not inherent value of one act over another
c ™71 M1 RN -also Tonn 170
i Defense: that is only n%nnab
d  Conclusion: Xnn "1 intended only to counter position which reads nx'9n 970 as indispensable (vv. 1-2)
i And:to counter assumption that nin is put on first; n»v1n go on first, but NNy is mentioned first (as it is in Rpn)
because of its significance as a 731 (covers entire body)
I  Analysis of the dispute
a  Rationale behind o'nan’s gradation:
i nYpois more severe than na™v, as it is given to Y9pn and 1"y 7239 — who challenged the basic tenets
1 Counter: perhaps no™v is most severe, as it is given to Xn11w 113 na — who defiled her father
2 Response: 1127's position is that only a nR1w1 113 N2 gets N97Y; an NOYIR gets the (usual) nY’po
(a) Therefore: since the n1in singled out noYIR for N2’po = must be more severe
ii  nYpois more severe than (1) 970, as it is given to Yopn etc.
1 Counter: perhaps 90 is more severe, as it is given to nnmn vy *vIR, whose property is forfeit
2 Response: instigator (who gets n5’pv) is more critical than followers (9270)
iii  nY’po is more severe than pan, as above
1 Counter: perhaps pin is more severe, as it is given to one who strikes parents, whose honor is compared to 'n
2 Response: since nn singled out no1k who has affair, instead of getting pin, she gets n%po > n»pois N
iv  n9"w is more severe than 9o, as it is given to 113 na- who defiled her father
1 Counter: perhaps 970 is more severe, as it is given to nnmin 7y *WIR whose property is forfeit
2 Response: since in both cases of adultery (113 na and no1R), it states n'ar - both are the severest mnm
v N9MV is more severe than pin, as it is given to nn1w 112 N1 as above
1 Counter: perhaps pin is more severe, as it is given to one who strikes parents etc.
2 Response: since a married 112 na is singled out away from pan to N9 - more severe
vi q»vis more severe than pin, as it is given to nnTan 1Y *wIR, whose property is forfeit
1 Counter: perhaps pin is more severe, as it is given to one who strikes parents etc.
2 Resopnse: nnman vy is still a direct affrontto 'n
b  Rationale behind w"1’s gradation:
i n9mwis more severe than n»pv as it is given to XnN11Y 113 Na (even if No1IR) who defiles her father
1 Counter: n9pv is more severe as it is given to 1y 7219 Y9pn who defy basic tenet
2 Response: since an 103 na noyIR was singled out, away from n»po to N9™W > nHMWY is more severe
ii  n9MWis more severe than pin, as it is given to 113 na, who defiles her father (rest follows [a (v)] above)
iii 91w is more severe than 90, as it is given to 103 N1 etc.
1 Counter: perhaps 90 is more severe, as it is given to nnmn Y *VIR, as above
2 Responses: the instigator is worse than the followers, and 1’p — if 197 > pIn and pIN>9»0 >NV >9»0
iv  n%pois more severe than pin (rest of argument follows [a (iii)] above)
v nYpois more severe than 9o (rest of argument follows [a (ii)] above) +17p: NYpO >PaN>9»0 > NYPL>q»D
vi pinis more severe than q»v, as it is given to one who strikes parents etc.
1 Counter: 970 is more severe as it is given to nnTn 1y "R, whose property is forfeit
2 Response: instigator is more severe, and v" holds that n»m gets pan
IV v '7’s “motto” — if a 113 na N©IRN 7Y has N1 — a7 — NHPo; Y™ — NOMY
a  Therefore: if she had the affair with her father — same dispute, as she will get more severe of 2 mmnn
i »”'s reasoning: 103 na was included in both consequences (pin/n%’po) and was singled out for both — namw (1wnnnY)
1 But: wnmir oy are not singled out for N9, and receive same as if she were Y%7 (n%*po/pin)
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